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HENEFY2

(PERNEZY)

(1 106X7

= (100+6)X7
= |O0OXT7+6X7
= 700+42

= T42

(2) 96X"7

= (100—4) X7
= |O0OXT7—4X"7
700—28
=672

3) 99X6

= (100—1)X6
|O0OX6— 1| X6
= 600—6

594

4 108X7

= (100+8) X7
= |Q0X7+8X7
= 700+56

= 756

(5) 102X22

= (100+2)X22
= |00X22+2X22
= 2200+44

= 2244
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6) 98X4
= (100—2)X4
= |00X4—2X4
= 400—8
= 392

7 1048
= (100+4)X8
= |00X8+4X8
= 800+32

= 832

(8) 98X

= (100—2)X7
| O0XT7—2X"7
= T700—14

= 686

@) 97X9

= (100—-3)X9
| O0X9—3X9
= 900—27

= 873

| 05X8
(100+5)%X8
| 00X 8+5X8
800+40

= 840
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